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 BCOC-131  

BACHELOR OF COMMERCE (GENERAL) 

(BCOMG) (CBCS) / B.A. (VOCATIONAL 

STUDIES) MICRO, SMALL AND MEDIUM 

ENTERPRISES (BAVMSME) 

Term-End Examination 

December, 2022 

BCOC-131 : FINANCIAL ACCOUNTING 

Time : 3 hours Maximum Marks : 100 

Note :  Attempt any five questions. Each question carries 

20 marks. 

 

1. (a) Explain the scope of Accounting. Discuss 

various steps involved in Accounting 

process. 5, 5 

(b) What are the different Bases of Accounting ? 

Explain with suitable example. 10 

2. (a) What do you understand by matching costs 

against revenue ? Explain the importance 

of matching concept with suitable example. 3, 7 

(b) Explain the procedure of issuing Accounting 

Standards in India.  10 
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3. What do you understand by Trial Balance ? 

Discuss various reasons for the disagreement of 

a Trial Balance. What various steps are involved 

in locating the errors ? Explain. 3, 9, 8 

4. (a) How is Manufacturing Account prepared ? 

Give a format of Manufacturing Account. 3, 7 

(b) What do you understand by bad debts and 

provision for bad debts ? Explain the 

accounting treatment of both with suitable 

example. 2, 8 

5. (a) What is an Account Sale ? How do you 

prepare it ? State how it is useful to the 

consigner. 2, 4, 4 

(b) What procedure is followed for the valuation 

of Closing Stock when abnormal and normal 

losses occur simultaneously ? 10 

6. What are the various methods of maintaining 

the Books of Account under Joint venture 

system ? Briefly explain with suitable example. 20 

7. (a) Define Ledger and Group. How is ledger 

different from group ? 4, 6 

(b) Discuss various types of Vouchers. Explain 

the use of post-dated vouchers.  5, 5 
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8. Hari acquired 5 scooters on Hire Purchase 

System from Vespa Ltd. The cash price for each 

scooter was < 10,000. The price was payable in  

5 annual instalments of < 2,200 each, the first 

being paid on signing the agreement and the 

instalment included interest charged at 5% p.a. 

Hari decided to provide depreciation at 10% p.a. 

calculated on diminishing balance method. After 

paying the advance and two other instalments, 

Hari discontinued payment of instalments in 

respect of 2 scooters and returned them to the 

vendor according to the terms of agreement. The 

agreement with regard to other 3 scooters was 

however, duly carried out. Show Scooters 

account and the Vendor account in the books of 

Hire Purchaser. 20 

9. Khanna Ltd. has one branch at Mumbai and 

another at Kolkata. Prepare Mumbai branch 

accounts in the books of Head Office from the 

following particulars which are related to 

Mumbai branch : 
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Goods supplied to 

branch 

 

9,000 

Discount 

allowed to 

customers 22 

Opening Stock 2,250 Wastage of 

Stock 225 

Opening Debtors 1,125 Cash received 

from debtors 6,525 

Cash Sales 4,500 Returned by 

customers 113 

Goods returned 

by branch 

 

    225 

Goods 

transferred by 

Kolkata 

branch to 

Mumbai 

branch 450 

Branch expenses 675  
 

Credit sales 6,750  
 

 Goods are supplied to branch by Head Office at 

cost + 25%. All expenses of the branch are met 

by Head Office and branch sends all cash 

received to Head Office. 20 
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 ~r.gr.Amo.gr.-131  

dm{UÁ` ñZmVH$ (gm_mÝ`) (~r.H$m°_.Or.) 
(gr.~r.gr.Eg.) / ~r.E. (ì`mdgm{`H$ AÜ``Z) gyú_, bKw 

Am¡a _Ü`_ CÚ_ (~r.E.dr.E_.Eg.E_.B©.) 

gÌm§V narjm 

{Xgå~a, 2022 

~r.gr.Amo.gr.-131 : {dÎmr` boImH$aU 

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 

ZmoQ> :  {H$Ýht nm±M àíZm| Ho$ CÎma Xr{OE & àË`oH$ àíZ Ho$ 20 A§H$  

h¢ & 

1. (H$) boIm§H$Z Ho$ H$m`©joÌ H$s ì`m»`m H$s{OE & boIm§H$Z 
à{H«$`m _| à`moJ hmoZo dmbo {d{^Þ MaUm| H$s MMm© 
H$s{OE & 5, 5 

(I) boIm§H$Z Ho$ {d{^Þ AmYma H$m¡Z-go h¢ ? C{MV 
CXmhaU g{hV ì`m»`m H$s{OE & 10 

2. (H$) bmJV Am¡a AmJ_m| Ho$ {_bmZ go Amn Š`m g_PVo  
h¢ ? {_bmZ H$s g§H$ënZm Ho$ _hÎd H$s C{MV 
CXmhaU Ho$ gmW ì`m»`m H$s{OE & 3, 7 

(I) ^maV _| boIm§H$Z _mZH$m| H$mo {ZJ©{_V H$aZo H$s 
à{H«$`m H$s ì`m»`m H$s{OE & 10 
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3. VbnQ> go Amn Š`m g_PVo h¢ ? VbnQ> Z {_bZo Ho$ {d{^Þ 

H$maUm| H$s MMm© H$s{OE & Aew{Õ`m| H$m nVm bJmZo Ho$ {bE 

à`moJ {H$E OmZo dmbo {d{^Þ MaU H$m¡Z-go h¢ ? ì`m»`m 

H$s{OE & 3, 9, 8 

4. (H$) {d{Z_m©U ImVm H¡$go V¡`ma {H$`m OmVm h¡ ? {d{Z_m©U 

ImVo H$m àmê$n Xr{OE & 3, 7 

(I) AemoÜ` G$U Ed§ AemoÜ` G$Um| Ho$ {bE àmdYmZ go 

Amn Š`m g_PVo h¢ ? BZ XmoZm| Ho$$ boIm§H$Z CnMma 

H$s C{MV CXmhaU Ho$ gmW ì`m»`m H$s{OE & 2, 8 

5. (H$) ImVm {dH«$` Š`m h¡ ? Bgo H¡$go ~Zm`m OmVm h¡ ? 

~VmBE `h H$ÝgmBZa Ho$ {bE H¡$go Cn`moJr h¡ & 2, 4, 4 

(I) O~ Agm_mÝ` Ed§ gm_mÝ` hm{Z EH$ gmW hmoVr h¡ Vmo 

A§{V_ ñQ>m°H$ Ho$ _yë`m§H$Z Ho$ {bE Š`m à{H«$`m 

AnZmB© OmVr h¡ ? 10 

6. g§`wº$ CÚ_ àUmbr Ho$ A§VJ©V boIm nwñVH$m| H$mo ~ZmE aIZo 

Ho$ {bE à`moJ _| AmZo dmbr {d{^Þ {d{Y`m± H$m¡Z-gr h¢ ? 

C{MV CXmhaU Ho$ gmW g§jon _| ì`m»`m H$s{OE & 20 

7. (H$) boOa Ed§ g_yh H$mo n[a^m{fV H$s{OE & boOa g_yh go 

H¡$go {^Þ h¡ ? 4, 6 

(I) {d{^Þ àH$ma Ho$ dmCMam| H$s MMm© H$s{OE &  

nmoñQ>-S>oQ>oS> dmCMam| Ho$ Cn`moJ H$s ì`m»`m H$s{OE & 5, 5 
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8. h[a Zo 5 ñHy$Q>a d¡ñnm {b{_Q>oS> go AdH«$` nÕ{V na IarXo & 

àË`oH$ ñHy$Q>a H$m ZH$X _yë`  < 10,000 Wm & _yë` H$m 

^wJVmZ àË`oH$ ñHy$Q>a Ho$ {bE < 2,200 H$s 5 dm{f©H$ {H$ñVm| 

_| H$aZm Wm & nhbr {H$ñV H$m ^wJVmZ AZw~§Y na hñVmja 

Ho$ g_` H$aZm Wm Am¡a {H$ñVm| _| 5% dm{f©H$ ã`mO em{_b  

h¡ & h[a Zo KQ>Vo eof õmg {d{Y go 10% dm{f©H$ õmg bJmZm 

V` {H$`m & A{J«_ VWm Xmo AÝ` {H$ñVm| Ho$ ~mX h[a Zo  

2 ñHy$Q>am|o Ho$ gå~ÝY _| {H$ñVm| H$m ^wJVmZ XoZm ~ÝX H$a {X`m 

Am¡a AZw~§Y H$s eVmªo Ho$ AZwgma BÝh| {dH«o$Vm H$mo dm{ng H$a  

{X`m & AÝ` 3 ñHy$Q>am| Ho$ gå~ÝY _| AZw~§Y H$m nyU©V`m 

nmbZ {H$`m J`m & AdH«$` H«o$Vm H$s nwñVH$m| _| AZw~§Y H$s 

g_m{á VH$ H$m ñHy$Q>a ImVm VWm {dH«o$Vm H$m ImVm ~ZmBE & 20 

9. IÞm {b{_Q>oS> H$s EH$ emIm _wå~B© _| VWm Xÿgar H$mobH$mVm 

_| h¡ & {ZåZ{b{IV {ddaU Omo {H$ _wå~B© emIm go g§~§{YV 

h¢, go àYmZ H$m`m©b` H$s nwñVH$m| _| _wå~B© emIm ImVm V¡`ma 

H$s{OE :  
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< 

emIm H$mo _mb ôOm 9,000 J«mhH$m| H$mo Ny>Q>> Xr 22 

àmapå^H$ ñQ>m°H$ 2,250 ñQ>m°H$ H$s hm{Z 225 

àmapå^H$ XoZXma 1,125 
XoZXmam| go àmá 

amoH$‹S> 

 

6,525 

ZH$X {dH«$` 4,500 J«mhH$m| go dmngr 113 

emIm Zo _mb dm{ng 

{H$`m  

225 

H$mobH$mVm emIm 

Zo _wå~B© emIm H$mo 

_mb hñVmÝV[aV 

{H$`m  450 

emIm Ho$ ì`` 675   

CYma {dH«$` 6,750   

 àYmZ H$m`m©b` Ûmam emIm H$mo _mb bmJV _| 25% Omo‹S>H$a 

^oOm OmVm h¡ & emIm Ho$ g^r ì`` àYmZ H$m`m©b` ŵJVmZ 

H$aVm h¡ VWm emIm àYmZ H$m`m©b` H$mo g^r àmá YZ ^oOVr 

h¡ & 20 


